



اسم: _____

التاريخ: _____ النتيجة _____

$$5^2 - (-5) =$$

$$(-7)^2 - 2 =$$

$$(-6)^{(-1)} - 9 =$$

$$(-9)^{(-1)} - 5 =$$

$$2^{(-1)} + (-6) =$$

$$9^2 - 5 =$$

$$(-5)^2 + 1 =$$

$$1^{(-1)} + 1 =$$

$$(-3)^2 - 3 =$$

$$(-1)^2 + (-8) =$$

$$1^{(-1)} + 9 =$$

$$2^2 - (-8) =$$

$$(-10)^{(-2)} - 8 =$$

$$(-10)^2 + 7 =$$

$$3^{(-2)} + (-3) =$$

$$4^{(-1)} - 7 =$$

$$8^{(-1)} - 1 =$$

$$9^2 + 5 =$$

$$(-9)^{(-2)} + (-9) =$$

$$3^2 + 10 =$$



اسم: _____

تاريخ: _____ النتيجة _____

$$5^2 - (-5) = 30$$

$$(-7)^2 - 2 = 47$$

$$(-6)^{(-1)} - 9 = \left(-\frac{55}{6}\right) = \left(-9\frac{1}{6}\right)$$

$$(-9)^{(-1)} - 5 = \left(-\frac{46}{9}\right) = \left(-5\frac{1}{9}\right)$$

$$2^{(-1)} + (-6) = \left(-\frac{11}{2}\right) = \left(-5\frac{1}{2}\right)$$

$$9^2 - 5 = 76$$

$$(-5)^2 + 1 = 26$$

$$1^{(-1)} + 1 = 2$$

$$(-3)^2 - 3 = 6$$

$$(-1)^2 + (-8) = (-7)$$

$$1^{(-1)} + 9 = 10$$

$$2^2 - (-8) = 12$$

$$(-10)^{(-2)} - 8 = \left(-\frac{799}{100}\right) = \left(-7\frac{99}{100}\right)$$

$$(-10)^2 + 7 = 107$$

$$3^{(-2)} + (-3) = \left(-\frac{26}{9}\right) = \left(-2\frac{8}{9}\right)$$

$$4^{(-1)} - 7 = \left(-\frac{27}{4}\right) = \left(-6\frac{3}{4}\right)$$

$$8^{(-1)} - 1 = \left(-\frac{7}{8}\right)$$

$$9^2 + 5 = 86$$

$$(-9)^{(-2)} + (-9) = \left(-\frac{728}{81}\right) = \left(-8\frac{80}{81}\right)$$

$$3^2 + 10 = 19$$